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= [ hhth 13
SiE—TH A% 1 Fansk 4
=SB =TH antE 2 Fani 4
[E& [ BT Y VAEVES 5
=% (EEH#X) hhray 8
SH—TH a8 1 Fans 4
SHZTH b4 2 Fans 7
SEH=TH b4 3 Fans 7
SHIETH a8 4 Fans 7
SHEATH 494" 5 Fans 7
SHFER B TH 471 1N 7
=B bhi 12
H HCHT hyn¥3n 2
e/ O 59)4% 11
fEi% CREE#KX) 47990 9
fEH—TH 877 1 Fami 3
fBEH_TH 877 2 Favi 3
B (FhFiHX) ¥ 8
HET—T B 437 1 Fa9i 5
HETZTH 43F 2 Fauk 5
HET=TH 43F 3 Fauk 5
HETYT H 43F 4 FIauk 5
HETHETH 43F 5 Fau# 5
FH % AR ET hEF vF 5
®x—TH A75Eh 1 Fagi 4
®IT=TH A75Eh 2 Fagi 4
FE—TH FME 1 Fagsk 1
FE-TH Fh 2 Fays 1
FEHE=TH FM 3 Fausf 1
FEMNTH FM 4 Fa94f 1
Z% A ET FeN 473y 2
EEYH (210 yh/ 6
TE YFh Y 7
EXFaET Tyk IvF 2
HE—TH T VIV 1 Fauk 7
HE=TH FUIy 2 Fauk 7
HE=TH T U1y 3 FIuk 7
HEMT B T VIV 4 Faui 7
HERTH T UIv 5 Fauk 7
i N ET IEksi 7
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+ER (REEFHX) bavH4 9
M (EE#X) by3 8
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T FHT b 7Y 1, 2, 4
SE—T B bYE 1 Fags 4
HNEZTH bYE 2 Fagk 4
NE=TH bHE 3 Fads 4
ST B bYE 4 Fagi 4
NEHETH bH% 5 Fadk 4
SHNE—TH bt 1 Fans 5
NEZTH bt 2 Fank 5
EX (MR#X) I 9
EH—TH P34 1 F394 1, 8
EH-TH P35 2 Fauk 1, 8
EBH=TH P34 3 Faus 1, 8
= HAET h34vF 1, 3
= FFET 3/F39 3
EH—TH P4 1 Fans 4
EHZ=TH P4 2 Fans 4
2H=TH P4 3 Fans 4
Z2F—TH FNT 1 Fans 1, 3
Z2FRZTH FNT 2 Fans 1
mE—TH MT7F 1 F39i 4
BREZTH MT7E 2 F39f 4
BmE=TH M7E 3 Fa9k 4
BREMTH MT7E 4 F39f 4
BRERETH M7HE 5 F39k 4
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